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In a survey, 2,500 executives were each asked whether they read
Newsletter A or Newsletter B. According to the survey, 55 percent of
the executives read Newsletter A, 62 percent read Newsletter B, and 37
percent read both Newsletter A and Newsletter B. How many of the
executives surveyed read neither Newsletter A nor Newsletter B?

A.

m o 6

425
500
600
675
750

B Not B tatol
A 37% X 2500 55% X 2500
not A ?
total 62% X 2500 2500

55%-37%=18% AnotB
TotalnotB  (100-62) ) %=38%
NotA and not B =20% }%i2500=500 B
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e Counting methods

If an object is to be chosen from a set of m objects and a second object
is to be chosen from a different set of n objects, then there are mn
ways of choosing both objects simultaneously.
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e Factorial

If nis an integer, greater than 1, then n factorial, denoted by the
symbol n! , isdefined as the product of all the integer form 1 to n.
therefore, 41=4X3X2X1=4X3! Etc.
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* The number of possible complete selections of k objects is called the
number of Combinations of n objects taken k at a time and is denoted

by n
k
n!

()= kK\(n—k)! -G =G
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The diagram above shows the various paths along which a mouse can travel from point X, where it is
released, to point ¥, where it is rewarded with a food pellet. How many different paths from X to Y

can the mouse take if it goes directly from X to Y without retracing any point along a path?

A B

B 7
c 12 —>

D 14 2 ¥

E 17 3

2X2X3=12
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Each person at a party shook hands exactly once with each of the
other people at the party. There was a total of 21 handshakes
exchanged at the party. What is the number of people at the party?

Ab

B 6

C7 - n! _n(n—l)(n—Z)!_n(n—l)
D8 T21m=2)!  2Wn-=2)! 2
E 9

M\ n=7l} 7X6/2 =21

N=7 C
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« Ajar contains only x black balls and y white balls. One ball is drawn
randomly from the jar and is not replaced. A second ball is then drawn
randomly from the jar. What is the probability that the first ball drawn is
black and the second ball drawn is white?

* A XI(x+y)lIx/(x+y)]

* B [X/(x+y)][(x-1)/(x+y-1)]

* C xy/(xty)

* D [(x-1)/(x+y)][(y-1)/(x+y)]
* E [X/(x+y)lly/(x+y-1)]
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* If an integer n is to be chosen at random from the integers 1 to 96,
inclusive, what is the probability that n(n + 1)(n + 2) will be divisible

by 87
A .1/4
* B.3/8
*«C.1/2
*D.5/8
*E.3/4
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